IBS State

Region 1 Region 2
Region 3 Region 4
2 242
Region 1 = 1850 = Pd LI inferred IBDO
IBSO + IBS2*  2p°q*+4p*q*> 3
Region 2 = _1BS0___ _ 9 inferred “not”IBDO
IBSO + IBS2*
Region 3 ="“not”IBDO0 = __1BST = ¢ (see Methods) = inferred IBD1
IBS1 + IBS2*
: P IBS1 .
Region 4= “not”"IBD0 = —————— =0 = inferred IBD2
IBS1 + IBS2*

KO = sum of regions inferred to be IBDO / total genome length
K1 = sum of regions inferred to be IBD1 / total genome length

K2 = sum of regions inferred to be IBD2 / total genome length



